L0 | A - I,,_ = G0l x 20 X-126.8F . _.A..zg.ga..g:ﬂu,.xi

VA )
............................ 3 z — - .‘i'Xoo e 640 ‘—53.’3

: .u.‘..-.-....\/,_‘.L,_‘. =420 x 2% RS

............................ 52.‘,..5,.,1.‘1.0¢ﬁ§;..53..13..’........,..VA;..._A o ek SsmenEs e ==

................... . 5o4¢.wv64z° .. W

z

A Jug 6320 ’V-'u 6’foo

/ ..................... VN’ Ot- VHV O
Z”SL‘"“ S\,_~,Sa‘7,2-‘t_¢:_+\732.¢
ot —

e ~ .
=2 7 VR ] W M W



Y s da

v - |
Hh B s les o2k 55""" & .v Yoroaafte 12 @,
Reto ol P
I i s

. | kvp
P.S’ Fl %p'»*-PD = @ \SS\= eiayl = '09

kVAr \ 3@ = 3
Q= @‘“Q”“*Qf@ Y

) QI= Pb N én'e; _ §o x L:m ((3;0.3:5) :.3;-]8’(‘,‘6!

Qe @, @ = So- 0 stp k™)

Xew V2 Uow? _ 2335+ oV __ o
Q. B G T ofx Ko 1ooRx2335
O;u:S]’ ‘ l |?>zo = loa P

= [} -) /
136.30pF ) C - [toighises 5 bz
A — ) ﬂ?//cw



¥ g Ja

P o Al Ol s (Y S
S, =P +jQ,=\Yeo+j\Fec kVA
O D R TS =R VIS CIUSRTL e PR e P S RCRS R RIS PV
P=P +P. =\Yeoto=\YookW cos@, ==/ @ =YO/AF
Q =Ptang, =\Yeextan YO/AY =0AVY kVar
Q=0,+0Q.,=2Q-=Q.—Q, =0AVY-\feo=—\o\A/AkVar
R

=)o \A/AX\ o'
Q. =-VxCo=C=- % - a
V'w (Yex\or) xYrxo

= A\ \'uF

GV osled Sl 53 add b Ol g S G i SV S L e O15 o el g1 (o
ol Y e il 53 ate Ja s S Sl Gl Dlaa Y ajled Sl 53 0305 5 5L 46 parme Ol sl S
a3 (W i) ¥ ajlad il 3 ey o 050 5030 8l is )y 2 3L 200 e

S (YYee—j oA/ Y)x\ ST
\“{- - Yox\o'

F

£ +(O+j\'0)x YA FAL=YOINE =\Y\$E/A L+Y/8VV

IL=1= =YAYAZL-YO/AY A

£

Yox\o

ﬁ

cos@, = oos[\‘/‘?v" —(—YO/AY‘)] =9/AVe lag

V=V+2 =



